Calcul littéral

Double développement

Dev?2

E=(a+c)x(b+2)  F=(a+5)x (c+b) ]
E-zaxb+ax... + o xb+c x F=ax... +aX ... + o x ¢+ Hx..
6=(3+a)x(b+c)  iH=(a+b)x(c+3) ]
G- H=

TI=(a+b)x (9 +c)  iJ=(a+1)x(m+n) |
I-= =

[lEntrainement 1 Développe les expressions et réduis =
K=(a+c)x(a+2) L=(a+b5)x (b+a)
Kzaxa+ax...+..xb+c ><......§L=a>< ...... +AX ot x b+ 5x...
M=(3 +a)x(a+b) TTTTIN=(d+b)x(3+b) T

_____________________________________________________________________________________________________

PRODUIT DE 2 SOMMES

(a+c)(b+6)

=axb+ax6+cxb+cx6

= ab + 6a + bc + 6¢

PRODUIT DE 2 SOMMES

(a+2)(b+a)

=axb+axa+2xb+2xa

= ab + a2 + 2b +2a

PRODUIT DE 2 SOMMES

S=(Ba+b)x(c+6)

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

' T=(8+2a)x(3b+2c)

(2a—3c )(2b+6)
=2ax2b+2ax6+(-3c)x2b+
(-3c)x6

= 4ab + 6a — 6bc — 18c
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